EARAROBEEIERT — 2 N— IBISH —F

20155586H (K) 2E=%15H

ICBC3—10 C3 H#5%—# BN
[A&4£] 1% :100,000 ™ ~ 23#&:25000M”  33%&:12,000 M  43%&:8,000H ~ 53 :5,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 3| 7RIS w b H o9 g]é;%ﬁa 1:(2_5).8 7653 [39.8| — | 1 | 464 g&%ﬁ E(f:'ﬂ%ﬂ)
LT IRy b B L—X RN S
4 o4 | BEIURE 1:25.9 4-3-2-1 | 40.1| — 7 484 | RESHE (&)
20111 E =iyl Ly ] 56.0 (3/4) w) | ) HZ=RHT
LB I7STLIF N B:T77—LhLyY N 455
. N N NigE— : —1-1- — RAR— (ZH)
slgli|Hons7re B4 Bl 1.(237 1-1-1-2 | 41.4 6 <4+424) %E%»?
R:24-1)>/0-x &:Tv—F Hro—+t>
= 4. 4 12 | WWEEES 1:27.0 10-9-8-4 [40.6 | — 10 | 502 |HEHPF (SH)
4|5|5|F L3777 56.0 (1 1/2) 3 |HEBT
AT MR B AT I HEKS
O 4 6 | LHEEF 1:27.3 5-5-6-8 |41.2| — 2 427 | BBXEH (B
5 6| 77 I7ELYY 54.0 (a1/2) (+9) RSB
AL T747 B:wLPz17 I1— NETHS
S 75) 1 |#43A :27. -2-3- . = THEHEE (SH)
6 2 HYZXTNSH 4 4 B0 1(217)5 2-2-3-6 | 41.8 3 (4+236) i
R:TLLFFEaT 1 BT IIRNS TAAAT7— I
. . EEEE A : -3-3- — ITHER (FH)
7179 | EVINF o4 EE 1(.32;4.)7 3-3-3-5 | 41.8 4 <4+243) gsr
LTANRTy Y2 BARLY T ILTIL, YRET7—L
s — S 47 | EABLRE 1:28.0 8-7-7-6 | 41.7| — 1| a2 | MIIEE (EH)
gl7|8|F—FH=v77147 A51.0 (1 1/2) (+3) | LEFZ
L7 ReA¥TvX> B:ay2—-Y1rX KkT7 7 — L4
s t 4 | AAHD 1:28.3 11-11-10-9 | 41.4 | — 9 492 | BhfE— (B
9 7 NG —F33 54.0 (1 1/2) (+10) FHFIEZ
L:xrindaO— BNIFIHT— =Y tae]
\ = ={1]ES :28. ~10-11- 5] - THER (&)
10 4| L& SH 4 5.0 1(218)5 5-10-11-10 | 41.5 5 a:g;i LoD
LG E— BTINNVTE 4TS JRE B
S 44 | BEERRNE 1:28.9 9-8-9-11 | 42.4| — 8 483 | REX (&)
11810 BT 1 25— 56.0 & | wE—
R:arFaAy b BiIFkT RE— Heh #Z
® I —F—@EBIERL
13—3— 11,2,9,1,(4,6),3,8,10,5,7
20—F— 1,2,(1,9),6,3,8,10,5,4,7
Jol=5r= 1,1,(2,9),3,6,8,5,10,7,4
40—F+— 1,11,3,5,9,(2,8),6,7,4,10
[ N3
B OB 3 120 714K 1-3 590M % E 1-3 1,860 3EHE 1-3-11 5,350
8 B 3 1609 3-11 340M B & 1= 1,510 K31 == 16,190M
1 450/ 1-11 4,320 | | B 3-1 2,240
1 530M

ABICOVWTRDTEEERROODE. TR LIV,




